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一、計算題：
1. 答案：7 EQ \F(5,7) 
難易度：易
2. 答案：7 EQ \F(1,7) 
難易度：易

3. 答案：29 EQ \F(1,3) 
難易度：易

4. 答案：18
難易度：易

5. 答案：11 EQ \F(1,4) 
難易度：易

6. 答案：4
難易度：易

7. 答案：6
難易度：易

8. 答案：4
難易度：易

9. 答案：5 EQ \F(5,8) 
難易度：易

10. 答案：10
難易度：易

11. 答案：23 EQ \F(4,7) 
難易度：易

12. 答案：11 EQ \F(1,5) 
難易度：易

13. 答案：28 EQ \F(2,3) 
難易度：易

14. 答案：8
難易度：易

15. 答案： EQ 79\F( 1 , 3 )
難易度：易

16. 答案：8 EQ \F(4,7) 
難易度：易

17. 答案：42 EQ \F(2,9) 
難易度：易

18. 答案： EQ \F(35,54) 
難易度：易

19. 答案： EQ \F(2,11) 
難易度：易

20. 答案： EQ \F(7,30) 
難易度：易

21. 答案：10 EQ \F(2,3) 
難易度：易

22. 答案： EQ \F(2,3) 
難易度：易

23. 答案：2
難易度：易

24. 答案：3 EQ \F(3,4) 
難易度：易

25. 答案：10
難易度：易

26. 答案： EQ \F(6,55) 
難易度：易

27. 答案： EQ \F(2,25) 
難易度：易

28. 答案： EQ \F(2,21) 
難易度：易

29. 答案： EQ \F(4,35) 
難易度：易

30. 答案： EQ \F(56,117) 
難易度：易

31. 答案： EQ \F(5,96) 
難易度：易

32. 答案： EQ 2\F( 9 , 10 )
難易度：易

33. 答案： EQ \F( 13 , 24 )
難易度：易

34. 答案： EQ \F( 10 , 27 )
難易度：易

35. 答案： EQ \F( 4 , 7 )
難易度：易

36. 答案： EQ 6\F( 7 , 18 )
難易度：易

37. 答案： EQ 2\F( 2 , 7 )
難易度：易

38. 答案： EQ \F( 1 , 10 )
難易度：易

39. 答案：13
難易度：中

40. 答案： EQ 63\F( 5 , 32 )
難易度：中

41. 答案：0.625
難易度：易

42. 答案：2.88
難易度：易

43. 答案：3.375
難易度：易

44. 答案：1.625
難易度：易

45. 答案：1.25
難易度：易

46. 答案：0.12
難易度：易

47. 答案：2.45
難易度：易

48. 答案：3.27
難易度：易

49. 答案：2.175
難易度：易

50. 答案：0.53
難易度：易

51. 答案：0.08
難易度：易

52. 答案：1.34
難易度：易

53. 答案：2.08
難易度：易

54. 答案：0.74
難易度：易

55. 答案：0.45
難易度：易

56. 答案：0.87
難易度：易

57. 答案：1.84
難易度：易

58. 答案：1.17
難易度：易

59. 答案：7.13
難易度：易

60. 答案：0.24
難易度：易

61. 答案：0.9
難易度：易

62. 答案：0.3
難易度：易

63. 答案：0.66
難易度：易

64. 答案：0.12
難易度：易

65. 答案：0.06
難易度：易

66. 答案：0.5
難易度：易

67. 答案：χ＝5657－800＝4857
難易度：易

68. 答案：(1)χ＝638－392＝246；(2)χ＝943－237＝706；(3)χ＝1790－754＝1036；(4)χ＝1820＋305＝2125
難易度：易

69. 答案：(1)χ＝2493－729＝1764；(2)χ＝762－268＝494；(3)χ＝3054－648＝2406；(4)χ＝2921＋875＝3796
難易度：易

70. 答案：(1)χ＝6438－832＝5606，驗算：6438－5606＝832；(2)χ＝8765－4321＝4444，驗算：4444＋4321＝8765
難易度：易

71. 答案：χ＝999－806＝193
難易度：易

72. 答案：6
難易度：易

73. 答案：234
難易度：易

74. 答案：χ＝5520÷368＝15
難易度：易

75. 答案：(1)χ＝1748÷76＝23，驗算:76×23＝1748；(2)χ＝3105÷69＝45，驗算:3105÷45＝69
難易度：易

76. 答案：(1)χ＝2403÷89＝27，驗算:89×27＝2403；(2)χ＝2688÷56＝48，驗算:2688÷48＝56
難易度：易

77. 答案：15
難易度：易

78. 答案：78
難易度：易

79. 答案：38
難易度：易

80. 答案：9996
難易度：易

81. 答案：24990
難易度：易

82. 答案：25
難易度：易

83. 答案：2
難易度：易

84. 答案：7
難易度：易

85. 答案：2
難易度：易

86. 答案：9
難易度：易

87. 答案：13
難易度：易

88. 答案：144
難易度：易

89. 答案：14
難易度：易

90. 答案：14400
難易度：易

91. 答案：(1)y＝2706÷82＝33，驗算：82×33＝2706；(2)y＝3564÷66＝54，驗算：3564÷54＝66
難易度：易

92. 答案：5
難易度：中

93. 答案：87
難易度：中

94. 答案：6
難易度：中

95. 答案：(1)0.5；(2)0.8；(3)0.625；(4)0.072；(5)0.16；(6)0.8

難易度：易

96. 答案：(1)0.3；(2)0.44；(3)0.025；(4)2.05；(5)3.175；(6)0.207

難易度：易

97. 答案：(1)1 EQ \F(1, 21 )×3 EQ \F(2, 11 )×4 EQ \F(2, 5 )＝ EQ \F(22, 21 )× EQ \F(35, 11 )× EQ \F( 22 ,5)＝14 EQ \F(2, 3 )；(2)2 EQ \F(8, 9 )×4 EQ \F(2, 13 )×3 EQ \F(3, 5 )＝ EQ \F(26, 9 )× EQ \F(54, 13 )× EQ \F( 18 ,5)＝43 EQ \F(1, 5 )；(3)17 EQ \F(1, 2 )×8 EQ \F(4, 7 )×1 EQ \F(5, 6 )＝ EQ \F( 35 ,2)× EQ \F( 60 ,7)× EQ \F( 11 ,6)＝275；(4) EQ \F(9, 34 )×4 EQ \F(2, 3 )×2 EQ \F(4, 21 )＝ EQ \F(9, 34 )× EQ \F( 14 ,3)× EQ \F(46, 21 )＝ EQ \F(46, 17 )＝2 EQ \F(12, 17 )
難易度：難

98. 答案：（做法僅供參考）
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＝ EQ \F( 4 , 21 )
難易度：易

99. 答案：10
難易度：中

100. 答案：16
難易度：中
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